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(Markov Chain)






pij = I:)(Xn+1 = J‘Xn = I)!

P
g‘\“@i‘x
“%:"Jc?b%ﬁ? &
a(n)=P(X =1),
1=1,2,n=01,---

i,j=12, n=01,---

0.8 0.2 0.3

Xn+1 Xn pij’ Xn-l’

a,(n+1) = a,(n)
a,(n+1) = a,(n)
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oll T a'2 (n) p21

012 + a‘2 (n) p22
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a,(n+1) = a, (n)p11+a (n) P,
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a(0),
a,(n+1)=a,(n)p, +a,(n)p, a(n), n=1,2...
n 0 1 2 3 fo%e)
a,(n) 1 0.8 0.78 0.778 7/9
a,(Nn) 0 0.2 0.22 0.222 2/9
a,(n) | O 0.7 0.77  0.777 7/9
a,(n) | 1 0.3 0.33  0.333 2/9
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p,,=0.8, p;,=0.18, p;3=0.02

P3:=0, P3=0, pas=1

X =3

a,(n+1)=a;(n)py +a,(n)p, +az(n)py,

a,(n+1)=a,(n)
a,(n+1)=a,(n)

D1, +8,(N)

;5 +@,(N)

022 + a3(n)

055 +25(N)

C)32

033



n 0 1 2 3 ... 50

(0.0
a,n) | 1 08 0757 0.7285 ... 01293 ... 0
a,(n) | 0 018 0.189 0.1835 ... 0.0326 ... 0O

a,(n) | 0 002 0054 00880 ... 08381 .. 1
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. a,(k)=a,(k)=0, a,;(k)=1, n>k, a,(n)=0
a,(n)=0, a,(n)=1, 3



X =12,k (N=04,--)

n
\""14“ S 2N (\:‘J
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a;(n) =P(X, =1), iai(n)=1
- i=12.... k.n=01... =

Py = P(Xn+1 — J‘Xn — I) P, Zo’ipij =11=12,---k
k
a(n+l)=>a()p,, i=12,---,k
j=i

a(n) =(@,(n).2,(M. () a(n +1) = a(n)P

P:{pij}kxk~ a(n) — a(O)Pn



a(n+1) = a(n)P7-

ST

< 3dN,P" >0

= dw, a(n) > w(n > o) w-

W WP =w
0.8w +0.7W, =W,
5|08 02 Lt 02w =0.7w,
L

k
W > w, =1 w+w, =1 B w=(7/9,2/9)

=1
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M =(1-Q)"=3Q
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Y=Y, Y. )=Me
e = (]_,1’












D~ n 1

P(D, =k)=e /Kl (k=012--) i
i Dn 0 1 ? 3 >3
P 0.368 0.368 0.184 0.061 0.019
S~ N ( ) S, {123}
S,—D,, D <S, Py Pu P
. {3, D >SS P=1Px Pz P
Py, = P(S,, =18, =1) = P(D, =0) = 0.368 LPa P P
P, =P(S,.=2S,=1)=0 0368 0 0632
b =P(S,, =35, =) =P(D, 21)=0632 | 00 2206 0204
------ 0184 0368 0448
Py = P(S,.. =35, =3) = P(D, =0)+ P(D, >3)=0.448



a;(n) =P(S, =1i),i =12§5:

| g S

a(n+1)=a(n)P
MWross 0 0632

P=|0368 0368 0264 « -
0184 0368 0448 0=

<3IN,P">0 P?>0 [

E> W wP=w
w = (w,,w,,w,) = (0.285,0.263,0.452)
n— oo, a(n) =(0.285,0.263,0.452)
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-3 P(D. >ilS =i)P(S. =i) "
P(D >S) ; (D, >i|S, =i)P(S, =i p(S. i) =w
= P(D>1)w, + P(D>2)w, + P(D > 3)w,

w = (0.285,0.263,0.452)
P ‘0.368 0.368 0.184 0.061 0.019

=0.264x0.285+0.080x0.263+0.019x0.452=0.105
10%
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3 [
n R,=> [> JP(D, = .S, =i}+iP(D, >i,S, =i) ]
i=1 % —

| i JP(D, = j‘Sn =1)+1P(D,, > i‘Sn =1)]P(S, =1)

3
i=1  j=1

=0.632x0.285+0.896x0.263+0.977x0.452=0.857

0.857( )
1( )?
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D A _P(D, =k)=xe"/k!, (k=012--)

e 0 1-e*

P=| " e 1-(1+Ar)e™
et 12 e 1-(A+27/2)e™

n (n ) P= P(Dn > Sn)
A 0.8 0.9 1.0 1.1 1.2
P 0.073 0.089 0.105 0.122 0.139
10%
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dr ~ H, rr~ R




3 dd~ D, dr~ H, rr~
o
m
DD RR DH DR HH HR
D 1 0 1/2 0 1/4 0
H 0 0 1/2 1 1/2 1/2
R 0 1 0 0 1/4 1/2
P(D | DH)=P(dd | dd,dr)=P(d | dd)P(d | dr) =1x1/2=1/2

P(R

HH)=P(rr | dr,dr)=P(r

dr)P(r | dr) =1/2x1/2=1/4



D:H:R
. D:H:R

. D:H:R =a:2b:c

at2b+c=1), p=athb, g=b+c,
d:r=p:q (p+g=1)

X =123~ n D, H, R

ai(n)~ n
i(=1,2,3)



drquv

0, =P(X,..=I( WX, =1( ))
. =P(X_ =1 dd)X, =1 dd )=p
0, =P(X , =2( dr)[X, =1 dd )=g¢
p.=P(X_ ,=3( )| X, =1 dd )=0
0, =P(X_, =1 dr )=1/2-p=p/2
0, =P(X ., =2( dr)
X, =2 dr ) p g 0

=1/2-p+1/2-q=1/2 P=p/2 12 q/l2




a(n+1)=a(n)P,n=01,---

0) = (a.2b P90
2(0)=(a,2n,c) 2 : P=|p/2 12 ql2
a(l)=a(0)P=(p°,2pq,q") 0 b g
a(2)=a)P=(p*,2pqg,q°) p=a+b,g=b+c
...... a+2b+c=1
a(0) w=wP =(p°,2pq,q°)

p=0=1/2 D:H:R=1/4:1/2:1/4
<« . =317 L
D H, _ (D+H):R=3:1



1 _

X =1,2,3,4,5,6~

pll — P(Xn+l :IDDI

X, ='DD") =1
p31 — P(Xn+l :IDDI
X, ='DH’)

=1/2-1/2=1/4

DD,RR,DH,DR,HH,HR

1 0 O 0 0 O

0 1 0 0 0 O
/4 0 12 0 14 0
0 0 0 0 1 0
1/16 1/16 1/4 1/8 1/4 1/4
0 14 0 0 U4 12




1,0 0 0.0 C 1(DD), 2(RR) :

Y4 0 W2 0 U4 0

oR0 0 0Q1 o0

116 1/16: /4 U8 U4 1/4
0 U4 0 0 U4 12
8/3 16 43  2/3
413 413  8I3 43
413 U3 8/3 43

213 U6 4/3 8/3 ( )

y=|vle=(45,63,53,4§j
6 3 3 6

M=(1-Q" =

5~6
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i=1,2,.. K
NO=(n (1), N,(0), ... N(D) N (t) = Z n, ()
n(t) ~ t i t=01,.. t
a)=(a,(t), 1), ... ) &) =E((3
a(t)~ a(t)>0, Ya(t)=1

Q={Pij}kxc Pi | J



I
W=(W,W,,--,W, ) W ~

mlfi’ k
W (t) = ;wini(t) =n(t)w' ~t

r=(r,r,---r)r ~

Lo =2

R(t) ~ t rR(t) ~ t

p,,w,,r. =0, Zk:ri =1
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| n(t)
N(t+1)=N(t)+R(t) -W(t) N (t)
‘- . K Q :{pij}
| n (t+1) _le p, N, (t) +rR(t) WA (0
_V\ij(t) r,R(t)
n(t+1)=n(t)Q + R(t)r S =1

MO =NE+D)-N@E)

R() =W (1) + M (t) = n()w” + M (1) ZPitW=1

Nt+D)=n(t)(Q+w'r)+ M (t)r ~
Q,w,r,M(t),n(0), n(t)



nt+1)=nt)(Q+w'r)+ M (t)r/,%
iP=Q+WTI’ nt+1)=n(t)P + M (t)r

Q:{pij}1jzk;pij+wi:1’izkllri:1 j> " ;

M(@{@)=N({t+1)—N(t)=0
a(t+1)=a(t)P=a(t)(Q+w'r)
a(n+1)=a(n)P

a(t) ~ P~
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a(t+1) = a(tjﬂP}f?“‘g
0, P=Q+w'r
Q :{pij}’i pij + W, =1

r a=a(@Q@+w'r) r 203
a:(al,...ak) ' ’éri_l
aw’ =

azaQ=r>0 a



| azaQ=a
( ) 05 04 O
i=1,2,3 Q=0 06 03
0 0 0.8

a=(a,a,a;) (a;+a,taz=1) -
3, >0.53,
a>aQ=1a, >04a+0.6a, [] <
a,>0.3a, +0.8a,

a,=4a, a,=1.5a,
al:az:aB:Qtl:l.S

a” = (0.286,0.286,0.428)
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azaQ=a -
B E> a=> aQ
I a—a I
a=a(Q+wr) O r= TQ — a=(aw )rM
| W M=0-0
r:Zriei M | m; :(mil’miZ’”"mik)
1= k
e. =(0,---1,---0) M i L. :Zmij
j=1
k k K
M =>reM => rm, > rm,
=1 =1 q = i=1
a=(aw' )rM ; k . E) -
AN aw = () 2, Nk
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Tase

05 04 0 | I
Jo-0 06 03 M=(1-Q)" = 8 3'5 ;"75

0 0 08 i ]
uo=T,4,=6254,=5 M T M=(MyMy M)
s =(0.286,0.2860.428) i &, =imij, s, =m, /
s, = (0,0.4,0.6), s, = (0,0.1) " 00
a=Dnbs,+b,s, +Db,s,,
bl > 0, Zbi — 0.286

B S %

| (0,0,1) 0.286 (1,0,0)



Q a(0),

Q a), r al)
a(l) a(0),

(1) _ (a(l) . (1)) a(2) — (a(Z)

D(a(l) a(2)) Zﬂ‘ (a(l) a(2))2’ /’Li ~
mln D(a(l),a’)
s.t.a(l) =a(0)(Q +w'r),
=0, Zk‘z =1

a B

a,

al”)
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(p) lay
L ~
2N S

2,.l80 Q>
I B _ "“?A:'C Unv:fv-.

05 04 O a(0)=(0,0,1),
MQ=(0 06 03 a” = (0.286,0.286,0.428)
0 0 03] (0,1,0)

r a(l) a
mgn D(a(l),a’)
st.a(l)=a(0)(Q+w'r), a(oﬁ

k (0,0,1) | 0.286 (1,0,0)
r>0,>r=1
=1

e (0.5,0.5,0)
A =1 a(1) = (0.1,0.1,0.8)
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a(0)=(0,0,1),
r(t), a(t) a =(0.286,0.286,0.428)
. ) D 3 i 5 5 7
0 0639 0747 0827 0883 0922 0949
0361 0253 0173 0117 0078  0.051
r(t) | os
0 0 0 0 0 0 0
- 0165 0207 0235 0253 0264 0272
at) | o1 0165 0207 0235 0253 0264 0272
08 0670 0586 0531 0495 0472 0457
a(7) a r(t)






